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1. �>D<4F<6=4O 5474 D54?<74F<< ���� 23.02.07 «&5E=<G5E>>5 

>5E?G6<64=<5 < D5<>=F 46<74F5?5=, E<EF5< < 47D574F>6 46F><>5<?5=" 

'G55=O= ??4= ?D54=47=4G5= 4?O D54?<74F<< FD55>64=<= $��% %�� =4 

5475 ED54=57> >5M57> >5D47>64=<O. �4EF>OM<= GG55=O= ??4= >E=>6=>= 

?D>D5EE<>=4?L=>= >5D47>64F5?L=>= ?D>7D4<<O ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O  

�>EG44DEF65==>5 46F>=><=>5 ?D>D5EE<>=4?L=>5 >5D47>64F5?L=>5 

GGD5645=<5 �5=75=E>>= >5?4EF< "�5=75=E><= >>??546 FD4=E?>DF=OE 

F5E=>?>7<= 

D47D45>F4= =4 >E=>64=<<:  

1. $545D4?L=O= 74>>= $>EE<=E>>= $545D4F<< >F 29 45>45DO 2012 7. 7 

273-$� «�5 >5D47>64=<< 6 $>EE<=E>>= $545D4F<<» 6 D544>F<< >F 2 

45>45DO 2019 7. E <7<5=5=<O<< < 4>?>?=5=<O<<, 6EFG?<6L<<< 6 E<?G 

(44?55 3 $545D4?L=O= 74>>= >5 >5D47>64=<<); 

2. �D<>47 �<=>5D=4G>< $>EE<< >F 17 <4O 2012 7. 7 413 «�5 

GF65D645=<< D545D4?L=>7> 7>EG44DEF65==>7> >5D47>64F5?L=>7> 

EF4=44DF4 ED54=57> >5M57> >5D47>64=<O» E <7<5=5=<O<< < 

4>?>?=5=<O<< >F 29 45>45DO 2014 7., 31 45>45DO 2015 7., 29 <N=O 2017 

7. ; 

3. �D<>47 �<=>5D=4G>< $>EE<< >F 14 <N=O 2013 7. 7 464 (D54. >F 

28.08.2020)  «�5 GF65D645=<< �>DO4>4 >D74=<74F<< < >EGM5EF6?5=<O 

>5D47>64F5?L=>= 45OF5?L=>EF< ?> >5D47>64F5?L=O< ?D>7D4<<4< 

ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O» (74D57<EFD<D>64= 

�<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 30 <N?O 2013 7., 

D57<EFD4F<>==O= 7 29200) (44?55 3 �>DO4>> >D74=<74F<< 

>5D47>64F5?L=>= 45OF5?L=>EF<); 

4. �D<>47 �<=>5D=4G>< $>EE<< >F 16 467GEF4 2013 7. 7 968 «�5 

GF65D645=<< �>DO4>4 ?D>6545=<O 7>EG44DEF65==>= <F>7>6>= 

4FF5EF4F<< ?> >5D47>64F5?L=O< ?D>7D4<<4< ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O» (74D57<EFD<D>64= �<=<EF5DEF6>< 

NEF<F<< $>EE<=E>>= $545D4F<< 1 =>O5DO 2013 7., D57<EFD4F<>==O= 

7 30306); 

5. �D<>47 �<=<EF5DEF64 =4G>< < 6OEL57> >5D47>64=<O $>EE<=E>>= 

$545D4F<<, �<=<EF5DEF64 ?D>E65M5=<O $>EE<=E>>= $545D4F<< >F 

05.08.2020 7 885/390 "� ?D4>F<G5E>>= ?>47>F>6>5 >5GG4NM<EEO". 

(�4D57<EFD<D>64= 11.09.2020 7 59778). 



6. �D<>47 �<=>5D=4G>< $>EE<< >F 09.12.2016 7 1568 (D54. >F 

17.12.2020) «�5 GF65D645=<< D545D4?L=>7> 7>EG44DEF65==>7> 

>5D47>64F5?L=>7> EF4=44DF4 ED54=57> ?D>D5EE<>=4?L=>7> 

>5D47>64=<O ?> E?5F<4?L=>EF< 23.02.07 &5E=<G5E>>5 >5E?G6<64=<5 < 

D5<>=F 46<74F5?5=, E<EF5< < 47D574F>6 

46F><>5<?5="(�4D57<EFD<D>64=> 6 �<=NEF5 $>EE<< 26.12.2016 N 

44946).  

7. �D<>47 �<=<EF5DEF64 ?D>E65M5=<O $$ >F 17 45>45DO 2020 7. N 747 

"� 6=5E5=<< <7<5=5=<= 6 D545D4?L=O5 7>EG44DEF65==O5 

>5D47>64F5?L=O5 EF4=44DFO ED54=57> ?D>D5EE<>=4?L=>7> 

>5D47>64=<O" 

8. �D<>47 �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=E>>= 

$545D4F<< >F 29 E5=FO5DO 2014 7.  7 667= «�5 GF65D645=<< 

?D>D5EE<>=4?L=>7> EF4=44DF4 ED54=57> ?D>D5EE<>=4?L=>7> 

>5D47>64=<O ?> E?5F<4?L=>EF< «23.02.07 &5E=<G5E>>5 >5E?G6<64=<5 

< D5<>=F 46<74F5?5=, E<EF5< < 47D574F>6 46F><>5<?5="» 

(74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 

19 =>O5DO 2014 7., D57<EFD4F<>==O= N 34779)    

9.  'EF464 �>EG44DEF65==>7> 46F>=><=>7> ?D>D5EE<>=4?L=>7> 

>5D47>64F5?L=>7> GGD5645=<O �5=75=E>>= >5?4EF< "�5=75=E><= 

>>??546 FD4=E?>DF=OE F5E=>?>7<= 

 

�D< E>EF46?5=<< GG55=>7> ??4=4 GG<FO64?<EL: 

1. �D<<5D=4O >E=>6=4O >5D47>64F5?L=4O ?D>7D4<<4. 

$57<EFD4F<>==O= =><5D: 744946. �4F4 D57<EFD4F<< 6 D55EFD5: 26 45>45DO 

2016 7. 

2. �<EL<> �<=>5D=4G>< $>EE<< >F 22.04.2015 N 06-443 «� 

=4?D46?5=<< �5F>4<G5E><E D5>><5=44F<=» (6<5EF5 E «�5F>4<G5E><<< 

D5>><5=44F<O<< ?> D47D45>F>5 < D54?<74F<< 444?F<D>64==OE 

>5D47>64F5?L=OE ?D>7D4<< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O» 

3. �<EL<> �5?4DF4<5=F4 7>EG44DEF65==>= ?>?<F<>< 6 ED5D5 

?>47>F>6>< D45>G<E >44D>6 < ��� �<=>5D=4G>< $>EE<< >F 20.02.2017 7 06-

156 «� �5F>4<G5E><E D5>><5=44F<OE» E �5F>4<G5E><<< D5>><5=44F<O<< ?> 

D54?<74F<< D545D4?L=OE 7>EG44DEF65==OE >5D47>64F5?L=OE EF4=44DF>6 

ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O ?> 50 =4<5>?55 6>EFD55>64==O< < 

?5DE?5>F<6=O< ?D>D5EE<O< < E?5F<4?L=>EFO< 
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'G55=O= ??4= D47D45>F4= 4?O >G=>= D>D<O >5GG5=<O. 

�4G4?> GG55=>7> 7>44 1 E5=FO5DO, D56<< D45>FO >5D47>64F5?L=>= 

>D74=<74F<< L5EF<4=56=O=. 

 

%D>> ?>?GG5=<O >5D47>64=<O ?> GG55=><G ??4=G 6 E>>F65FEF6<< E 

FD55>64=<O<< $��% %�� E>EF46?O5F 3 7>44 10 <5EOF56. 

'G55=O= ??4= D47D45>F4=  6 E>>F65FEF6<< E >64?<D<>4F<5= E?5F<4?<EF4 

ED54=57> 765=4, G>474==>= 6 �5D5G=5 E?5F<4?L=>EF5= ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O, GF65D645==>< ?D<>47>< �<=<EF5DEF64 

>5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 29 >>FO5DO 2013 7. N 1199 

(74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 26 45>45DO 

2013 7., D57<EFD4F<>==O= N 30861), E <7<5=5=<O<<, 6=5E5==O<< ?D<>474<< 

�<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 14 <4O 2014 7. 

N 518 (74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 28 

<4O 2014 7., D57<EFD4F<>==O= N 32461), >F 18 =>O5DO 2015 7. N 1350 

(74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 3 45>45DO 

2015 7., D57<EFD4F<>==O= N 39955) < >F 25 =>O5DO 2016 7. N 1477 

(74D57<EFD<D>64= �<=<EF5DEF6>< NEF<F<< $>EE<=E>>= $545D4F<< 12 45>45DO 

2016 7., D57<EFD4F<>==O= N 44662): 

E?5F<4?<EF ?> F5E=<G5E>><G >5E?G6<64=<N < D5<>=FG 46<74F5?5=, 

E<EF5< < 47D574F>6 46F><>5<?5=. 
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%FDG>FGD4 >5D47>64F5?L=>= ?D>7D4<<O 6>?NG45F >5O74F5?L=GN G4EFL < 

G4EFL, D>D<<DG5<GN GG4EF=<>4<< >5D47>64F5?L=OE >F=>L5=<= (64D<4F<6=GN 

G4EFL). 

�5O74F5?L=4O G4EFL >5D47>64F5?L=>= ?D>7D4<<O =4?D46?5=4 =4 

D>D<<D>64=<5 >5M<E < ?D>D5EE<>=4?L=OE >><?5F5=F<= < E>EF46?O5F 68 

?D>F5=F>6 >F >5M57> >5N5<4 6D5<5=<, >F6545==>7> =4 55 >E6>5=<5. 

�4D<4F<6=4O G4EFL >5D47>64F5?L=>= ?D>7D4<<O (32%) <E?>?L7>64=4 4?O 

D4EL<D5=<O >E=>6=OE 6<4>6 45OF5?L=>EF<, > >>F>DO< 4>?65= 5OFL 7>F>6 

6O?GE>=<>, G7?G5?5=<O ?>47>F>6>< >5GG4NM57>EO, 4 F4>65 ?>?GG5=<O 

4>?>?=<F5?L=OE >><?5F5=F<=, =5>5E>4<<OE 4?O >55E?5G5=<O 

>>=>GD5=F>E?>E>5=>EF< 6O?GE>=<>4 6 E>>F65FEF6<< E 74?D>E4<< 

D57<>=4?L=>7> DO=>4 FDG44. 

 



�=45>E �5D5G5=L F<>?>6, D4745?>6, ?D54<5F>6, 
4<EF<??<=, ?D>D5EE<>=4?L=OE <>4G?5=, ���, 

?D4>F<> 

�5N5< 
64D<4F<6=>= 

G4EF< 
��%- �5M<= 7G<4=<F4D=O= < E>F<4?L=>-M>>=><<G5E><= 

GG55=O= F<>? 
12 

��%-.04 $<7<G5E>4O >G?LFGD4 4 

��%-.05 �E<E>?>7<O >5M5=<O 8 

��& �5M5?D>D5EE<>=4?L=O= F<>? 502 

��.01 �=65=5D=4O 7D4D<>4 34 

��.03 -?5>FD>F5E=<>4 < M?5>FD>=<>4 42 

��.06 �=D>D<4F<>==O5 F5E=>?>7<< 6 ?D>D5EE<>=4?L=>= 

45OF5?L=>EF</ �44?F<6=O5 <=D>D<4F<>==O5 < 

>><<G=<>4F<>==O5 F5E=>?>7<< 

36 

��.07 �D46>6>5 >55E?5G5=<5 ?D>D5EE<>=4?L=>= 45OF5?L=>EF</ 

%>F<4?L=4O 444?F4F<O < >E=>6O E>F<4?L=>-?D46>6OE 

7=4=<= 

24 
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